1.
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Answer _Vey

81 —25 =56
56+7 =8

12+ 8)x2 =
12

2. 576

s lL1_7 153
5 15 5 14 2

4. 0.5

5. 12x12 = 3(X)(18)
X =

6. 12x8% =96+ 3 =99
99x2 =

7. 24+3 = 8 rows
15+3 = 5 columns
8x5 = 40 (plates)

8. 10>

9. 270+40 = 63 hr =
45 min|

10. 2_65 x% x% =

11. 8

12. 6

13. 63

14. A

15. E

16. 136

17. 6

18. 5 min

19. 7.5

20. 11

21. C

22. 3

33.
34.

35.

36.

37.
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.2

12

.11
. 11 hr and 53 min

. 500+2 = 250

12 6 —
—xzso—mx250—6x2.5 =

. 1-round: 2x(13 + 23) =

72 (ft) = 24 (yd)
5-round: 5x24 =
(yd)

A=12+6=[1§

. 250 = 2x5%25 = 10x5

5%x5%x5 =125

2x125 =
36+4=9

9+3 = 3 in (each side of
a square)

3x3x5 =451n

A

p=2
c=6-2=4
g=4+1=5
t=5-4=1
244+5+1=
Ix8 =4

200+4 =
36+24 = 60
720+60 = 12 pairs
12x2 =
720+2 = 360
360+36 =10

-11-

44,
45.

46.

47.
48.

49.

360+24 = 15

10 + 15 =25 (cars)

63 -33 =23 ft

. 6 matches

Assume they are A, B,
C, and D. There are 6

matches as below:

AB, AC, AD, BC, BD,
and CD.

. 6 segments
A 1 B
3 4
D 6 C

. 10 segments

. 15 matches

. 15 skits

Count the number of
segments in the
following diagram.

Sara Josie
AN S

Cora #-

Laura May

65+ 4 =069

60 + 64 = 124

100+2 = 50

4+2=2

50 + 2 = 52 (grandpa)
50 - 2 = 48 (grandma)

70 + 74 = 144
61

130+2 = 65
4+2=2
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50.
51.
52.
53.
54.

55.

56.

57.

58.
59.
60.
61.
62.
63.
64.

65.

65 + 2 = 67 (grandpa)
65 - 2 =063 (grandma)

3x15 =45

45-20-8=17
13, 15,17

10, 15, 20
C=12,D=15E=18
63 =2

182+2 = 91 mi
9+:3=3

91x3 = 273 mi
12+6 =2
182x2 = 364 mi
B

B

A

C

C

B

A

Gx16)x4 =16 > 12
A

CTs

66.
67.
68.
69.
70.

71.
72.
73.
74.
75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
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C

B
300000
100
55.8

40

700

3

50

.8
4500000
2

.03

3

.005
.00006
.0001
.002
.0021
.09

378

-12 -

88.
89.

90.

91.

92.

93.

94.

10+3 = 30

In each minute,
Roboprint (fastest)
prints 120 pages
Voltronn

prints 30 pages
Vantek Plus
prints 80 pages
DLS Pro

prints 100 pages
160+10 = 16
256+16 = 16 gal
1+11+11+1=24
1+1+11+11=24
11+1+11+1=24
11+1+1+11=24
1+11+1+11=24
40+5=28

8x2 =
6,000,000x10%
6,000,000x0.1 =
$600,000

16x3 =24
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